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Use Laplace transforms to solve the IVP )" +2y'+ y=12te”’, y(0)=-4, '(0)=3. SCORE: /40 PTS
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Find two linearly independent series solutions of 4x* !

+ x(x+6)y" =2y =0 about the point x =0 SCORE;: / 60 PTS
You must find the recurrence relation for the coefficients

and you must give the first three non-zero terms of each series (or all terms if a solution has fewer than three non-zero terms),
but you do NOT need to write your final answers in sigma notation.

Y ey - 254=0 %= — SieUien ponc
Lo !
\\ XC“J‘"—’) 2 \ NV N § ‘l’
Sy A G &
S 0 2} 5¢ = ‘\*/L; A 5 ReEGULAN. S )NEULAT, [POINT

Dl s O b -/O———fe -\ D~ %D=0 O
R e
»® e

y-Saser | BRI B Do
4

St i (Rl D o 0T (e EX)i A v a@nw’ ~ '.15':)0& X“”
L_i//————J L ne

: 4(,M¥YXW+’Y"" 1) aﬂx z ¢ Qnrr>%%n+r+ j ;ép(.vxr\/>a NG @
el o ’
@ er —‘\2 :,).O\“}(hw @
v ,

I e DY iy ol seid o i D 2

(d[ te (‘f’\) r by~ 2) Q@ ) i{%’, LV\*;’XV)«\'Y”\> ¥ (3(_}’\-%{‘)’2}0\“

- e A
Al Llr»l—‘fo ;@/"_—’—L

i\

G
e Sy Ry D (X
LA e s Yt
Spe BS ARVE @ L G Yon =Dk blnrd- 2 G
T : . o o b Dot
r‘:—/\; GV CL N G AL re 3t G UrC e )x(p(,na—"’)'?.
QLhIIX\rw’Z)*(:(,V\"\)’"Z it 4
L
Gl D - e
: =) W Liﬂnl'k@h
NaE O Sidl s e L
@L___————“""“ : . i “‘*‘0\05’%0‘0’:\
i a.x (1= %% i L‘/—/Ja
2 ]
- iy Ao ZEq= - 2=q, =
A (x5, (D) 2y o Teoed

Y= o (|- Fox - o5 %>

@)






